HSSC Clerk, 27 Nov 2016, Evening
No. 01)

10/2015 (&

2011, which

According to Census-
5 lowest

district of Haryana possesse
women literacy rate ? rh
(A) Mewat (B) Mahendr26
(C} Rewari (D) Bhiwant

In 1797, which place of Pr"?sem
Haryana was made as Capital bY
George Thomas ?

(A) Jahajgarh (B) Hansi™

(C) Tohana (D) Rohtak
Nahar Wildlife Sanctuary is located
in which district of Haryana 7

{A) Rewari (8) Mahendragarh
{C} Palwal {D) Mewat

Who was the FEditor of 'Haryand
Tilak’ weekly magazine ?

(A) Nekiram Sharma

{8) Shriram Sharma

(C} Baldeo Singh

(D} Sir Chhotu Ram

In Haryana Government minister
Krishanlal Panwar belongs to which
constituency ?

(A) Ambala Cantt, (B) Israna-

(C) Faridabad (D) None of these

Kakroi Micro Hydroelectrica! Project
s constructed on '
(A) Bhiwani Canal

(R) Bhakra Canal

(C) Gurgaon Canal

(D) Western Yamuna Canal

Which of the following Lok-Sabha
seat falls under General Category 7
(A) Ambala (B) Sirsa™
(C) Gurgaon (D) Allthese

‘Satyarth Prakash’ is authored by
(A) Swami Dayar_xand |

(B) SwamiShraddhanand

(C) Swami Ramdeo

(D) Acharya Baldeo
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17,

40

In which field Shri Dinanath Batra
contribuled the most ?

(A) Agriculture (B) Politics

(C) Employment (D) Education
Rio  Olympics Bronze Medalist
Shakshi Malik belongs to which
village of Rohtak ?
(A) WNindana

(C) Chandi

(8) Mokhra
(D) None of these

On advise of which Guru, Banda
Bahadur left Sonyagsa and started
fighting wars ?

(A) Guru Teg Bahadur

(8) Guru Gobind Singh

(C) Guru Arjun Deo

(B) Guru Nanak Deo

In Haryana, majority of people are
following the religion

{A) Hindu - (8) Bauddh
(C) Islam (D} Yahudi

Brahma Sarovar pilgrimage is located
al

(A} Pehowa
(C) Kurukshetra

(8] Kaithal
(D) Jind

Official language of Haryanais
(A} Urdu (B) Punjabi
{C} English’ (D) Hindi

Which of the following river is not
ariginated from Shivalik Range ?

{A) Yamuna (B) Saraswati
(C) Markanda (D) Ghaggar

Rakhigarhi, which is associated with
Harappan Civilization, is located in
the district
(A) Rohtak
(C) Hisar

(B} Kaithal
(D) Sirsa

Foundation of which University of
Haryana was placed by Dr. Rajendra

‘Prasad ?

(A) Rohtak
(C) lantpali

(B) Kurukshetra
(D) Sirsa
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The Headquarters of International

solar Alliance is established in which
city of Haryana ?

(A) Karnal
(C) Faridabad

(B) Gurgaon
(D) Panipat

Who is well-known {successful)
Haryanavi Film Actor ?

(&) Devi Shankar Prabhakar

(B) Jagat Jakhar

(C) Anoop Singh

(D) Sunil Dutt

In Haryana, Vulture Conservation
and Breeding Centre is located at

(A) Pinjore (B) Panchkula
(C) Yamunanagar (D) Karnal
Name the military general of
Alauddin  Khilji who invaded the
Tamil kingdoms and returned with
great riches.

(A) Balban
(C) Malik Kafur

(8) Nasiruddin
(D) Jataluddin

Name the Muslim king who could
barely read or write, hut at his court
lived great poet Amir Khusro.

(A) Alzuddin Khilji

(B) Muhzammad Tughlaq

(C) Firoz Shah '

(D) SherShah

Which one of the following Indian
states is not bisected by the Tropic of
Cancer ? i

(A) Odisha
(C) Rajasthan

(8) Gujarat
{D) West Bengal

Name the river which rises in the:
Aravalli ranges and enters the
Arabian Sea through the Rann of
Kutch.

(A) Kalinadi
(C) Luni

(B) Amravati
(D) Beas
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32,

Which Article has given 3 special
status to Jammu & Kashmir ?
(A) 367 (B) 369
(c) 370 (D) 371

Which one of the following is no
fonger a Fundamental Right?

() Right against exploitation

(B) Right to freedom

(C) Rightto property

(D) cuitural and educational rights

How many banks were nationalised
in the year 1969 ?

(A) 9 (B) 14

(c) 17 (D) 20

On which of the following items is
excise duty levied ?

(A) Import of goods

(B) Export of goods

(C) Production of goods

(D) Sale of goods

Wha of the following is not
associated with Carnatic music ?

(A) Shyama Shastri

{B) Tyagaraja

(€) Bhatlkhande

(D) Muthuswami Dikshitar

Who composed the National Anthem ?
(A) Rabindranath Tagore

(B) Muhammad Igbal

(C) Bankim Chandra Chatterjee

(D) Sri Aurobindo

Who was the first Indian woman to
win the Inanpith Award ?

(A) Amrita Pritam

(B) Mahadevi Varma

{Q) Mshashweta Devi

(D) Ashapoorna Deyi
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How many nuclear tests ;“‘-""e
conducted by India in May 1998

{A) Three (B] Two

i€) Five (D) Six

in which year did £dmund Hil!arvlﬂﬂd-
Tenzing Norgay reach the peak ©
Vit, Everest P

(A) 1953 (B) 1952

(€) 1955 (D) 1954

Whe defeated Napaiean in the
‘Battle of Waterloo ? -
{A) WNelson

{B) Duke of Wellington

(C) Louis XV

{D) Ali Pasha

When was Roman ruler Jullus Caesar
assassinated ?

(A) S8BC (8) 488C

(C) 448C (0) 44D

What is the duration of a day at the.
equator ?
(A) 24 nr

{8} 12 hr
(C) 14 hr

(D} 16hr

Which planet has two small satellites.

called Phiobos and Deimas ?
(A) Neptune (B) Uranus
(C) Mars (B) Veaus

Where is the headquarters of the
World Bank ? ' '
(A) New York

(C) Washington

() London
(D) Pans

‘Whera is the headquarters of the UN'

Educational, Sclentific and Cultural

Organisation (UNESCO) ?
(4) London {B) Paris
(C) Vienna (D) Rome

Which of the following is not 3
mammal ? '

(A) Fish (8) Cow
(C} Goat (0} Whale
Which drug is extfacted from the

bark of a ¢inchona trea 2
(A) Erythromycin (B) thuprofan
(C) Quinine. (D} Paracatamp
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48.

49,

50.

With  which  game o FifA Cup
aswociated ¢
(A) Mackey (B) Foathall

(€) Table Yennis (D} Badminton
Khajuraha is lacated in

(A) M.p (&) up,

(C) Bihar (1) Odisha

What is the capital of Brazil ?
(A} Rigde lenelro

(B} San Satvador

(C) Brasilia

(D) Buenos Aires

Which committee has been
constituted 1o prepare a draft plan on
Ganga river !

(A) Girdhar Malviya Committee

(B} Shankar Acharya Committee

(C) Mukesh Bumar Singla Committee
(D) BD Shekatar Committee

Who among the following has been
chosen  for the 239 Rajiv Gaadhi
Nationsi Sadbhavana Award ?

(A) Kailash Kher

(8) Shubha Mudgal

(C) Sukhwinder Singh

(D) i3 Arun

The first meeting of SAARC Home
tlinisters was held on May 11, 2006
at

(A) Kabul
. {C) Dhaka

{8) Colombo
(D) !stamabad

“Yood Karo Kurbani” celebration was
tzunched by Prime Minister Narendra
Madl on

(A} 9" August, 2016

(8) 10" August, 2016

(€) 12" August, 2016

(D) 18" August, 2016

The official name of Rio Qlympics-
2016 was

(A) OO Olympiad
() XX Olymplad
(C) 00 Olympind
(D) xxx Qlympiad
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51. % N LIS AiC.
: 5 oh 3 gl SRR [3HEY B
5. In the following series, how many SU*:I‘ €, ] 3k [_TS: L:; et & e g
odd numbers are there whtchdaw ey [ I STEEE rU
divisible by 3 or 5, then follov® ;i GEa? P P
odd numbers and then also follow 12 19, 21'@ 25,18, 35, 20, 22,721, 45,
by even numbers ? S 45, 46,47, 48,9, 50, 52,54, 55, 56
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' . ) LAMNGUL D
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62.

63.

64.

65.

l‘}_

A number is doubled and 9 is added.
If resultant is trebled, it becomes 75.
What is that number ?

(A) 8 (8) 10

(Cy 12 (D) 14

A and B together can complete a
piece of work in 4 days. If A alone
can complete the same work in 12
days, in how many days can B alone
complete that work ?

(A) 4 days (B) S days

(C) 6days (D) 7 days

A man is walking at the rate of
5 km/hr crosses a bridge in 15
minutes. The length of the bridge is

(A} 1000 metres  (B) 1050 metres
{C) 1200 metres (D) 1250 metres

Hygrometer is used to measure
(4) Relative humidity

(B) Purity of milk

(C) Specific gravity of & liquid
(D) None of these

The ealement used in an electric
filament is

(A} Copper (8) Aluminum
{C) lron (D) Tungsten
Which of the following Is used for
silvering of mirrors ?

(A) Silver nitrate (B) Zinc nitrate
(C) Silveroxide (D) Pitchblende
Which of the following is the richest
resource of vitamin A ?

(A) Orange

(B) Apple

(C) Eges

{D) Wone of these

Which of the following disease is
caused by virus ?
(A) Smallpox

(B) Tuberculosis
(C) Malaria

(D) Cholera
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66,

G7.

68.

69.

70.

71.

7Z.

ENGLISH LANGUAG

Out of the given alternatives,
the one which best express
Meaning of the given word.
T!\(fITURNITY

&) Reserve

{B) Hesitation

{C)  Changeableness

(D) Dumbness

choose

Choose the word opposite 1N
Meaning to the given word.
KNOWLEDGE

{A) lgnorance

(B} liliteracy

(&} Foolishness.

(D) Backwardness

Out of thae four alternatives, choose
the one which best conveys the
meaning of the phrase.

Code of diplomatic etiquette and
precedence,

(A) Formalism

(8) Statesmanship

(C} Protocol

D) Hierarchy

Fill in the blanks with appropriate
Prepositions choosing from the four
aiternatives given below the sentence ;.
The art exhibition is to be officially
opened ____ Wednesday 2p.m.
&Y onjat (B) ation

(C) from;on (D) on;from

Choose the correctly spel't_'\.vd‘rql.
(A) Avairiciues (B) Avaricius
(C) Avaricious By Avaracious

fp= A

o AR
(A ! - -

vel] -ﬁ"J‘rJ:%T‘ifFIE';;‘_IFm T &
W q4a T_n;?'fﬂ'f--l‘{'cf"ﬂ
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81.

82.

-83.

'84.

85.

Mount Sinabung Volcano, which
erupted recently, is located in which

country ?

(A) Indonesia
(B) Japan

(C) Mexico

(D) United States

The famous Sun Temple is located in
which Indian state ?

(A) Konark, Odisha

(B) Aurangabad; Maharashtra
{C) Jaipur, Rajasthan

(D) None of these

Who amongst the following
revolutionaries was not involved Iin
the Alipore Bomb case ?

(A) Aurobinda Ghosh
(B) Rasbihari Bose
{C) Bagha Jatin

(D) Bipin Chandra Pal

Which city of India is having highest
population ?

(A) Kolkata
(C) Mumbai

(B) Delhi
(D) Chennai

Which -one is called Upper House of
the Parliament ?

(A} Lok Sabha

(B) RajyaSabha

(C) Lok Sabha and Rajya Sabha
combined

(D)} Lok Sabha, Rajya Sabha and
President combined
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86.

87.

89.

90.

Arrange the words given below in @
proper order and choose the most
appropriate sequence from the
alternatives provided below the
question

1. Yarn 2. Plant
3. Saree 4, Cotton
S. C(Cloth

(B) 2| 4; 31 51 1
o) 24,531

(A) 2,4,1,5,3
(€) 2,4,5,1,3

words in

Arrange the given
atphabetical order and choose the

one that comes first.
(A) Conceive

(B) Diurnal

(C) Conceit

(D) Concentrate

Pune is bigger than Jhansi and Sitapur
is bigger than Chittor. Raigarh is not
as big as Jhansi, but is bigger than
Sitapur. Which is the smallest ?
(A) Pune (B) Jhansi
(C) Sitapur (D) Chittor

Choose the correct alternative,
Elegance : Vulgarity ; : Graceful ; ?
(A) Awkward (B) Comely
(C) Asperity (D) Dirty

Find out the wrong term in the given'

series.

56, 72, 90, 110, 132, 150

(A) 72 (B) S0
(C) 110 (D) 150

12
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91.

92.

93.

94.

95.

96.

A shopkeeper cheats to the extent of
10% while buying and selling, by
using false weights. His total gain is
(A) 20% (8) 21%

(C) 22% (D) 23%

In a class there are three divisions.
The number of students and the
average marks in mathematics in the
three divisions are 30, 40, 30 and
40%, 30% and 50% respectively.
What are the average marks in
mathematics of the class ?
(A) 39 (8) 40
(C) 41 (D) 51

If LCM of two numbers Is 693, HCF of
same two numbers is 11 and one

number is 99 then find other.

(A) 34 () 77
(c) 12 (D} 45
If (0.04)™° =x, then xis equal to
(&) 25 (8) 125
(€) 250 (D) 625

Pipe A can fill a tank in 5 hours, pipe

B in 10 hours and pipe C in 30 hrs. If

all  the open
simuitaneously, in how many hours
will the tank be filled ?

(A) 2.5 hours (B) 2 hours

(C) 3.5 hours (D) 3 hours

pipes are

Gas Balloons are filled with
{A) Oxygen
(C) Helium

(B) Nitrogen
!D! Argon
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97. Which of the following are examples
electromagnetic waves ?

1. X-rays

2. Ultrasonic

3. Perays

4,  c-rays

(A) 1only () 2only

(C) 1,3and4 (D) 2,3and4

98. Which metal is used in storage
batteries ?
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97. Prmfaifra 3 § wi Frogaaany @ E

STTERYI § 7

1. X-fav

2, yuEd

3. p-fl

4, o-fai

(A) a1 (B) a2
46571, 32004 (D) 2,33 4

98, wurd fefa A wiw W arg FYw @

&7
(A) Copper (B) Lead (A) g (8)
(C) Aluminium (D) Zinc _te) wwjftras (D) W=l
99. Which lenses are used by people 59, ezt Qu A wE g1 HE AW @
having Short-sightedness ¢ wam P e e
{(A) Concave AT s
(B) Convex (B) s
(C) Plain (C) wwee
{D) Photochromatic. (D) WY BRR
100. The highest point in the blood 100. mmw TN YT T F
pressure or upper reading of blood e T RS
pressuré is called |
iy - 9 (A) Rrifos oy
() Systolic pressure:
BEC » =
(B) Diastolic pressure ~A8) svwif v
(C) Hypotension (C) TR
p) Hypertension (D) ErgueEmy
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